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Gravitazione	
  

La	
  seconda	
  legge	
  di	
  Newton	
  
	
  
	
  
	
  
può	
  essere	
  usata,	
  5picamente,	
  in	
  due	
  modi:	
  
	
  
1.   osservato	
  il	
  moto,	
  si	
  determina	
  la	
  forza	
  che	
  lo	
  causa;	
  

2.   data	
  la	
  forza,	
  si	
  determina	
  il	
  moto	
  che	
  produce.	
  
	
  	
  	
  

Premessa	
  sulla	
  forze	
  fondamentali	
  e	
  non	
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Premessa	
  sulla	
  forze	
  fondamentali	
  e	
  non	
  

Tu;e	
  le	
  forze	
  che	
  abbiamo	
  visto	
  finora	
  seguono	
  la	
  prima	
  
modalità:	
  si	
  fanno	
  esperimen5	
  in	
  cui	
  si	
  cara;erizza	
  il	
  5po	
  
di	
  moto,	
  e	
  da	
  ques5	
  si	
  deducono	
  leggi	
  empiriche	
  per	
  le	
  
forze	
  coinvolte	
  (esempio:	
  legge	
  di	
  Hooke).	
  	
  
	
  
Le	
  forze	
  determinate	
  da	
  leggi	
  empiriche	
  sono	
  
generalmente	
  riconducibili	
  a	
  cause	
  più	
  complesse	
  e	
  
profonde	
  (esempio:	
  casi	
  limite	
  di	
  interazioni	
  più	
  
generali,	
  come	
  il	
  peso,	
  oppure	
  manifestazioni	
  
macroscopiche	
  di	
  interazioni	
  microscopiche	
  di	
  altro	
  5po,	
  
come	
  gli	
  a;ri5,	
  i	
  vincoli	
  e	
  le	
  forze	
  elas5che,	
  ecc.	
  )	
  

Premessa	
  sulla	
  forze	
  fondamentali	
  e	
  non	
  
In	
  alcuni	
  casi,	
  le	
  espressioni	
  delle	
  forze	
  che	
  si	
  o;engono	
  
dalle	
  osservazioni	
  appaiono	
  molto	
  generali	
  e	
  non	
  
riconducibili	
  ad	
  ulteriori	
  cause	
  più	
  profonde.	
  In	
  tal	
  caso	
  le	
  
parla	
  di	
  forze,	
  o	
  interazioni,	
  fondamentali.	
  
	
  
Si	
  tra;a	
  di	
  una	
  selezione	
  arbitraria	
  e	
  che	
  può	
  cambiare	
  nel	
  
tempo,	
  ma	
  che	
  rifle;e	
  in	
  modo	
  sinte5co	
  le	
  conoscenze	
  
sulla	
  natura	
  in	
  una	
  data	
  epoca.	
  La	
  ricerca	
  delle	
  interazioni	
  
fondamentali	
  è	
  uno	
  dei	
  motori	
  della	
  fisica	
  !!	
  	
  	
  
	
  
La	
  prima	
  interazione	
  fondamentale	
  che	
  incontriamo	
  nello	
  
sviluppo	
  della	
  dinamica	
  è	
  l’interazione	
  gravitazionale.	
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Due	
  corpi	
  qualsiasi	
  dota5	
  di	
  massa	
  si	
  
a;raggono	
  con	
  una	
  forza	
  
proporzionale	
  al	
  prodo;o	
  delle	
  
rispeOve	
  masse	
  e	
  inversamente	
  
proporzionale	
  al	
  quadrato	
  della	
  
distanza	
  reciproca:	
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Forza	
  gravitazionale	
  

Per	
  essere	
  più	
  precisi,	
  per	
  due	
  
par5celle	
  pun5formi	
  si	
  può	
  
scrivere	
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dove	
  G	
  è	
  una	
  costante	
  universale,	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  è	
  la	
  
posizione	
  rela5va,	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  il	
  suo	
  versore	
  e	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  il	
  suo	
  
modulo.	
  
	
  
Fu	
  introdo;a	
  da	
  Newton.	
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Forza	
  gravitazionale	
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Lo	
  scopo	
  di	
  Newton	
  era	
  di	
  
ricondurre	
  diversi	
  moA	
  ad	
  
un’unica	
  causa:	
  rivoluzione	
  
della	
  terra	
  intorno	
  al	
  sole,	
  
rivoluzione	
  della	
  luna	
  a;orno	
  
alla	
  terra,	
  caduta	
  dei	
  gravi.	
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Forza	
  gravitazionale	
  

Su	
  cosa	
  poteva	
  basarsi:	
  

  

Forza	
  gravitazionale	
  

1)	
  Le	
  leggi	
  di	
  Keplero	
  per	
  moto	
  dei	
  piane5.	
  
2)	
  Le	
  leggi	
  per	
  la	
  caduta	
  dei	
  gravi	
  (Galileo).	
  
3)	
  Le	
  leggi	
  per	
  il	
  moto	
  circolare	
  uniforme	
  (Huygens).	
  
4)	
  Il	
  conce;o	
  di	
  inerzia	
  (Galileo).	
  
	
  
A	
  quesA	
  aggiunse:	
  
5)  La	
  seconda	
  legge.	
  	
  
6)  Il	
  principio	
  di	
  azione	
  e	
  reazione.	
  
	
  



19/12/14 

5 

Il	
  suo	
  ragionamento,	
  in	
  sintesi:	
  

  

Forza	
  gravitazionale	
  

1)	
  La	
  prima	
  legge	
  di	
  Keplero	
  dice	
  che	
  i	
  piane5	
  
percorrono	
  orbite	
  elliOche.	
  	
  
Dato	
  che	
  l’eccentricità	
  è	
  piccola,	
  Newton	
  approssimò	
  le	
  
orbite	
  con	
  orbite	
  circolari	
  di	
  raggio	
  costante	
  r,	
  
riservandosi	
  di	
  verificare	
  a	
  posteriori	
  che	
  il	
  problema	
  
amme;eva	
  soluzioni	
  più	
  generali	
  elliOche.	
  	
  
	
  

  

Forza	
  gravitazionale	
  

2)	
  La	
  terza	
  legge	
  di	
  Keplero	
  dice	
  che	
  il	
  rapporto	
  tra	
  il	
  cubo	
  
del	
  raggio	
  e	
  il	
  quadrato	
  del	
  periodo	
  è	
  una	
  costante	
  uguale	
  
per	
  tuO	
  i	
  piane5;	
  la	
  costante	
  potrà	
  quindi	
  dipendere	
  solo	
  
dalle	
  proprietà	
  del	
  sole	
  che	
  li	
  a;rae.	
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Forza	
  gravitazionale	
  

3)	
  Per	
  un	
  moto	
  circolare	
  uniforme	
  l’accelerazione	
  
centripeta	
  vale	
  in	
  generale	
  
	
  
	
  
	
  
	
  
	
  
e	
  per	
  i	
  piane5	
  possiamo	
  usare	
  Keplero:	
  	
  	
  

2

22
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Forza	
  gravitazionale	
  

4)	
  L’accelerazione	
  centripeta	
  del	
  pianeta	
  
	
  
	
  
deve	
  essere	
  causata	
  dalla	
  sua	
  interazione	
  con	
  il	
  sole.	
  
Possiamo	
  usare	
  la	
  II	
  legge	
  di	
  Newton	
  per	
  legare	
  
l’accelerazione	
  alla	
  forza	
  esercitata	
  dal	
  sole	
  sul	
  pianeta	
  
	
  
	
  
dove	
  r	
  è	
  la	
  distanza	
  del	
  pianeta	
  dal	
  sole	
  e	
  	
  	
  	
  	
  il	
  versore	
  
corrispondente	
  (che	
  punta	
  verso	
  il	
  pianeta).	
  

r
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Forza	
  gravitazionale	
  

5)	
  Ipo5zziamo	
  che	
  la	
  terra	
  a;ragga	
  verso	
  di	
  sé	
  qualsiasi	
  
corpo,	
  compresa	
  la	
  luna,	
  con	
  lo	
  stesso	
  Apo	
  di	
  forza	
  
	
  
	
  
dove	
  	
  	
  	
  	
  	
  	
  ora	
  dipende	
  dalle	
  cara;eris5che	
  della	
  terra,	
  
anziché	
  da	
  quelle	
  del	
  sole.	
  	
  
Possiamo	
  fissare	
  	
  	
  	
  	
  	
  	
  	
  u5lizzando	
  i	
  parametri	
  no5	
  
dell’orbita	
  della	
  luna	
  (approssimata	
  come	
  circolare)	
  e	
  
usando	
  la	
  III	
  legge	
  di	
  Keplero:	
  	
  

r
r
mCF T ˆ4

2

2π
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rC =
distanza	
  media	
  terra-­‐luna	
  

periodo	
  di	
  rivoluzione	
  della	
  luna	
  

  

Forza	
  gravitazionale	
  

6)	
  In	
  questo	
  modo	
  abbiamo	
  trovato	
  che	
  la	
  terra	
  a;rae	
  la	
  
luna	
  con	
  una	
  forza	
  del	
  5po	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  con	
  
	
  
Se	
  la	
  stessa	
  forza	
  agisce	
  sui	
  gravi	
  in	
  prossimità	
  della	
  
superficie	
  terrestre,	
  per	
  essi	
  possiamo	
  scrivere:	
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Questo	
  è	
  uno	
  dei	
  
capolavori	
  della	
  fisica!	
  

  

Forza	
  gravitazionale	
  

7)	
  Verifichiamo	
  che	
  l’accelerazione	
  di	
  gravità	
  così	
  trovata	
  
	
  
	
  
	
  
è	
  in	
  accordo	
  con	
  quella	
  misurata:	
  

22
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Tr
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=
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m10376

6

6

×≅≅

≅

×≅

mhgT
r.r

.r

L

TTL

T
2m/s8.9≅g !!!	
  

  

Forza	
  gravitazionale	
  

7)	
  Dunque	
  la	
  terra	
  a;rae	
  i	
  corpi	
  verso	
  di	
  sé	
  con	
  una	
  forza	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  con	
  
	
  
e	
  il	
  sole	
  a;rae	
  i	
  piane5	
  con	
  una	
  forza	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  con	
  	
  
	
  
Le	
  due	
  costan5	
  sono	
  diverse.	
  Vorremmo	
  qualcosa	
  di	
  più	
  
universale.	
  

r
r
mCF T ˆ4

2

2π
−=


2

3

L
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r
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2
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Forza	
  gravitazionale	
  

8)	
  Per	
  o;enere	
  qualcosa	
  di	
  più	
  universale	
  torniamo	
  al	
  
problema	
  di	
  Keplero	
  per	
  i	
  piane5	
  e	
  usiamo	
  il	
  principio	
  di	
  
azione	
  e	
  reazione.	
  
Se	
  il	
  sole	
  a;rae	
  il	
  pianeta	
  di	
  massa	
  mp	
  con	
  una	
  forza	
  	
  
	
  
	
  
allora	
  il	
  pianeta	
  a;rae	
  il	
  sole	
  di	
  massa ms 	
  con	
  una	
  forza	
  
della	
  stessa	
  natura	
  	
  
	
  

2

24
r
mC

F pSπ
= sole dal dipende che costante=SC

2

24
r
mC

F Spπ
= pianeta dal dipende che costante=pC

  

Forza	
  gravitazionale	
  

8)	
  per	
  il	
  principio	
  di	
  azione	
  e	
  reazione	
  le	
  due	
  forze	
  devono	
  
essere	
  uguali	
  in	
  modulo:	
  
	
  
ovvero	
  
	
  
ma	
  no5amo	
  che	
  il	
  membro	
  di	
  sinistra	
  dipende	
  solo	
  dalle	
  
proprietà	
  del	
  sole	
  e	
  quello	
  di	
  destra	
  solo	
  da	
  quelle	
  del	
  
pianeta,	
  indipendentemente	
  da	
  quale	
  pianeta.	
  Il	
  rapporto	
  
4π2C/m  è	
  dunque	
  indipendente	
  dalla	
  sorgente	
  della	
  forza.	
  
È	
  universale	
  !!	
  	
  	
  Lo	
  chiamiamo	
  G 

2

2

2

2 44
r
mC

r
mC SppS ππ

=

p

p

S

S

m
C

m
C 22 44 ππ

=
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Forza	
  gravitazionale	
  

8)	
  Quindi	
  il	
  sole	
  a;rae	
  il	
  pianeta	
  di	
  massa	
  mp	
  con	
  una	
  forza	
  	
  
	
  
	
  
il	
  pianeta	
  a;rae	
  il	
  sole	
  di	
  massa ms 	
  con	
  una	
  forza	
  
	
  
	
  
la	
  terra	
  a;rae	
  tuO	
  i	
  corpi	
  con	
  una	
  forza	
  
	
  
	
  
ecc.	
  

22

2

2

2 44
r
mm

G
rm
mmC

r
mC

F Sp

S

SpSpS ===
ππ

22

2

2

2 44
r
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G
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r
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p
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ππ

22

2

2

2 44
r
mmG

rm
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r
mCF T

T

TTT ===
ππ

  

Forza	
  gravitazionale	
  

8)	
  Possiamo	
  così	
  concludere	
  che	
  la	
  forza	
  che	
  agisce	
  tra	
  il	
  
sole	
  e	
  i	
  piane5,	
  tra	
  la	
  terra	
  e	
  la	
  luna,	
  tra	
  la	
  terra	
  e	
  i	
  corpi	
  in	
  
prossimità	
  della	
  sua	
  superficie	
  e,	
  più	
  in	
  generale,	
  tra	
  tuO	
  i	
  
corpi	
  dota5	
  di	
  massa,	
  ha	
  la	
  forma	
  	
  
	
  
	
  
	
  
	
  
[nota:	
  è	
  un	
  primo	
  esempio	
  di	
  “unificazione”,	
  tra	
  mo:	
  planetari	
  e	
  
moto	
  dei	
  gravi;	
  ai	
  fisici	
  piacciono	
  le	
  grandi	
  unificazioni] 

122
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21 r̂
r
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Forza	
  gravitazionale	
  

Una	
  volta	
  arriva5	
  a	
  questa	
  conclusione,	
  basata	
  su	
  
conoscenze	
  preceden5	
  e	
  su	
  nuove	
  conge;ure,	
  il	
  passo	
  
successivo	
  consiste	
  nell’assumere	
  che	
  questa	
  sia	
  
l’espressione	
  generale	
  delle	
  forza	
  gravitazionale	
  e	
  
nell’inserire	
  questa	
  espressione	
  nell’equazione	
  del	
  moto	
  
(II	
  legge	
  di	
  Newton)	
  per	
  vedere	
  quali	
  sono	
  tuO	
  i	
  mo5	
  
possibili	
  che	
  ne	
  conseguono.	
  
	
  
Vedremo	
  più	
  avan5	
  come	
  si	
  o;engono	
  le	
  orbite	
  di	
  
Keplero	
  (ellissi,	
  ma	
  non	
  solo...).	
   

122
12

21 r̂
r
mmGF −=



  

Forza	
  gravitazionale	
  

Difficoltà	
  incontrata	
  da	
  Newton	
  #1	
  
	
  
Aveva	
  a	
  disposizione	
  misure	
  poco	
  accurate	
  della	
  
distanza	
  terra-­‐luna.	
  Quelle	
  che	
  aveva	
  lo	
  portavano	
  ad	
  
un	
  valore	
  di	
  g	
  troppo	
  diverso	
  da	
  quello	
  misurato.	
  
	
  
Pensò	
  che	
  la	
  teoria	
  fosse	
  sbagliata,	
  fino	
  a	
  che,	
  molto	
  più	
  
tardi,	
  non	
  gli	
  comunicarono	
  nuove	
  misure	
  più	
  precise.	
  
	
  
Con	
  le	
  nuove	
  misure	
  l’accordo	
  tra	
  teoria	
  e	
  misure	
  era	
  
buono.	
  Solo	
  allora	
  pubblicò	
  i	
  suoi	
  risulta5.	
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Forza	
  gravitazionale	
  

Difficoltà	
  incontrata	
  da	
  Newton	
  #2	
  
	
  
Trovare	
  le	
  soluzioni	
  del	
  problema	
  del	
  moto,	
  assegnata	
  la	
  
forza,	
  non	
  era	
  affa;o	
  semplice	
  a	
  quell’epoca.	
  	
  
	
  
Non	
  esisteva	
  il	
  calcolo	
  infinitesimale	
  !!	
  
	
  
Newton	
  se	
  l’è	
  inventato	
  apposta.	
  Leibniz	
  l’ha	
  introdo;o	
  
in	
  modo	
  indipendente	
  nello	
  stesso	
  periodo.	
  	
  

  

Forza	
  gravitazionale	
  

Difficoltà	
  incontrata	
  da	
  Newton	
  #3	
  
	
  
Le	
  masse	
  coinvolte	
  nei	
  mo5	
  planetari	
  e	
  nella	
  caduta	
  dei	
  
gravi	
  sono	
  estese,	
  non	
  pun5formi.	
  	
  
Ad	
  esempio,	
  la	
  terra	
  a;rae	
  gli	
  oggeO	
  sulla	
  sua	
  
superficie	
  come	
  fosse	
  una	
  par5cella	
  pun5forme	
  di	
  
massa	
  mT	
  tu;a	
  concentrata	
  nel	
  suo	
  centro	
  ??	
  
La	
  risposta	
  è	
  sì,	
  ma	
  Newton	
  dove;e	
  dedicare	
  molte	
  
pagine	
  del	
  suo	
  libro	
  per	
  dimostrarlo.	
  	
  
Più	
  avan5	
  mostreremo	
  che	
  è	
  vero	
  per	
  una	
  qualsiasi	
  
forza	
  proporzionale	
  a 1/r2 se	
  la	
  sorgente	
  della	
  forza	
  è	
  
isotropa	
  (cioè	
  con	
  simmetria	
  sferica).	
  	
  


